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D–886 

M. A. (Fourth Semester) (Main/ATKT)  

EXAMINATION, May-June, 2020 

ECONOMICS 

Paper Fourth 

(Economics of Social Sector) 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- ekWfUVª;y izksVksdky fuEu esa ls fdlls lEcfU/kr gS \ 

¼v½ gfjr xg̀ xSl 
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¼c½ vEyh; o”kkZ 

¼l½ vkstksu ijr 

¼n½ ladVxzLr iztkfr 

Montrial protocol is related to which of the following ? 

(a) Green house gas 

(b) Acid rain 

(c) Ozone layer 

(d) Threatened species 

2- fuEufyf[kr esa ls dkSu&lh xzhu gkml xSl ugha gS ? 

¼v½ esFksu  

¼c½ dkcZu MkbvkWDlkbM 

¼l½ ukbVªl vkWDlkbM 

¼n½ lYQj MkbvkWDlkbM 

Out of following which of the following is not a Green house 

gas ? 

(a) Methane 

(b) Corbon dioxide 

(c) Nitrous Oxide 

(d) Sulphur dioxide 

3- vFkZ’kkL= dk tud fdls dgk tkrk gS \ 

¼v½ eSDlewyj 
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¼c½ dkyZ ekDlZ 

¼l½ ,Me fLeFk 

¼n½ vYÝsM ek’kZy 

Who is the father of Economics ? 

(a) Max Muller 

(b) Karl Marx 

(c) Adam Smith 

(d) Alfred Marshall 

4- ekuo iw¡th dks fuos’k dgk tkrk gS tks ykrk gS % 

¼v½ Je esa xq.kkRed lq/kkj  

¼c½ Je esa ek=kRed lq/kkj 

¼l½ nksuksa ^v* vkSj ^c*  

¼n½ dksbZ ugha 

Human capital is called an Investment that 

 brings : 

(a) Qualitative improvement in labour 

(b) Quantitative improvement in labour 

(c) Both ‘a’ and ‘b’ 

(d) None  

5- ,d jklk;fud m|ksx dkj.k ugha gS % 

¼v½ ok;q iznw”k.k dk 
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¼c½ /ofu iznw”k.k dk 

¼l½ ty iznw”k.k dk 

¼n½ ukfHkdh; iznw”k.k dk 

A Chemical Industry is not a cause of : 

(a) Air pollution 

(b) Noise Pollution 

(c) Water Pollution 

(d) Nuclear Pollution 

6- vkfFkZd fodkl --------------------- dks n’kkZrk gSA 

¼v½ vkfFkZd of̀) 

¼c½ vkfFkZd of̀) ds lkFk&lkFk forj.k vkSj lajpuk esa vk;k  

cnyko 

¼l½ ‘kgjh vkcknh dh HkykbZ esa lq/kkj 

¼n½ ldy jk”Vªh; mRiknu esa lrr~ of̀) 

Economic development refers to : 

(a) Economic growth 

(b) Economic growth plus change in output distribution 

and economic structure 

(c) Improvement in well-being of the urban population 

(d) Sustainable increases in gross national production. 
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7- ykSg v;Ld fdl izdkj dk lalk/ku gS \ 

¼v½ uohuhÑr 

¼c½ tSfod 

¼l½ vtSfod 

¼n½ vuohuhÑr 

Which type of resources is ‘Iron Ore’ ? 

(a) Renewable 

(b) Biotic 

(c) Abiotic 

(d) Non-renewable 

8- -------------- vkSj ---------------- ,sls nksgjs LrEHk gSa ftu ij lkekftd {ks= ds 

lq/kkjksa dk laiknu gksrk gSA 

¼v½ f’k{kk vkSj vk/kkfjd lajpuk 

¼c½ f’k{kk vkSj LokLF; 

¼l½ f’k{kk vkSj xjhch 

¼n½ f’k{kk vkSj jkstxkj 

.............. and ............. are the twin pillars on which rests the 

edifice of the social sector reforms. 

(a) Education and Infratructure 

(b) Education and Health 

(c) Education and Poverty 

(d) Education and Employment 
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9- ekuo fodkl lwpdkad dk vkfo”dkj fdlus fd;k \ 

¼v½ iky ØqxeSu 

¼c½ egcwc&my&gd 

¼l½ ftu Vªst 

¼n½ vYÝsM ek’kZy 

Who invented the Human Development Index ? 

(a) Paul Krugman 

(b) Mahbub-ul-Huq 

(c) Jean Dreze 

(d) Alfred Marshal 

10- ekuo fodkl fjiksVZ dkSu tkjh djrk gS \ 

¼v½ fo’o cSad 

¼c½ fo’o vkfFkZd eap 

¼l½ la;qDr jk”Vª 

¼n½ vadVkM 

Who releases the Human Development  

Report ? 

(a) World Bank 

(b) World Economic Forum 

(c) United Nations 

(d) UNCTAD 
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11- ^LFkk;h ¼/kkj.kh;½ fodkl* ‘kCn dc vfLrRo esa vk;k Fkk \ 

¼v½ 1980 

¼c½ 1987 

¼l½ 1978 

¼n½ 1992 

When did the term ‘sustainable development’ come into 

existence ? 

(a) 1980 

(b) 1987 

(c) 1978 

(d) 1992 

12- i;kZoj.kh; iznw”k.k ds dkj.k fo’o esa dkSu lh leL;k mRiUu gqbZ  

gS \ 

¼v½ xzhu gkml izHkko 

¼c½ vkstksu fNnz 

¼l½ rkieku esa of̀) 

¼n½ mi;qZDr lHkh 

What problems have occurred in the world due to 

environmental pollution ? 

(a) Green house effect 

(b) Ozone hole 

(c) Rise in temperature 

(d) All of the above 
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13- la;qDr jk”Vª ds ^lrr~ fodkl* lEesyu dks - - - - - - - - - - - - - Hkh dgk tkrk gSA 

¼v½ fj;ks&2010 

¼c½ fj;ks&2011 

¼l½ fj;ks&2012 

¼n½ fj;ks&2013 

The United Nations Conference on Sustainable Development 

(UNCSD) is also known as : 

(a) Rio-2010 

(b) Rio-2011 

(c) Rio-2012 

(d) Rio-2013 

14- 6 ls 14 o”kZ dh vk;q ds chp lHkh cPpksa dks f’k{kk dk vf/kdkj gS % 

¼v½ lkekftd vf/kdkj 

¼c½ ekSfyd vf/kdkj 

¼l½ ^v* o ^c* nksuksa 

¼n½ mi;qZDr esa ls dksbZ ugha 

Right to education to all children between the age of 6-14 

years is a : 

(a) Social right 

(b) Fundamental right 

(c) Both ‘a’ and ‘b’ 

(d) None of the above 
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15- i;kZoj.kh; iznw”k.k ds fy, dkSu&lk ?kVd mŸkjnk;h ugha gS \ 

¼v½ tula[;k dh vf/kdrk 

¼c½ vkS|ksxhdj.k 

¼l½ ou&{ks= esa of̀) 

¼n½ mi;qZDr esa ls dksbZ ugha 

Which component is not responsible for environmental 

pollution ? 

(a) Population over population 

(b) Industrialization 

(c) Increase in forest area 

(d) None of the above 

16- /kkj.kh; fodkl dk lwpd ¼ladsrd½ dkSu lk gS \ 

¼v½ ncko ladsrd 

¼c½ izHkko ladsrd 

¼l½ iks”k.kh; ladsrd 

¼n½ mi;qZDr lHkh 

Which is the indicator of sustainable development ? 

(a) Pressure indicator 

(b) Impact indicator 

(c) Nutritional indicator 

(d) All of the above 
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17- izkÑfrd lalk/kuksa ds vR;f/kd nksgu us fdl leL;k dks tUe fn;k  

gS \ 

¼v½ vkstksu ijr esa Nsn 

¼c½ xzhu gkml xSlst 

¼l½ ty&ok;q iznw”k.k 

¼n½ mi;qZDr lHkh 

What problem has cased excessive exploitation of Natural 

resources ? 

(a) Ozone hole 

(b) Green house gas 

(c) Water-Air pollution 

(d) All of the above 

18- vkfFkZd fodkl ,oa i;kZoj.k ds e/; lEcU/k dks izLrqr djrk gS % 

¼v½ i;kZoj.k dqtusV~l oØ 

¼c½ rVLFkrk oØ 

¼l½ ek¡x ,oa iwfrZ oØ 

¼n½ mi;qZDr dksbZ ugha 

............. represents the relationship between economic 

development and environment. 

(a) Environment Kuznets’s curve 

(b) Indifference curve 

(c) Demand and supply curve 

(d) None of these 
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19- lalk/ku ftuds xBu ¼fuekZ.k½ ds fy, yEck Hkw&oSKkfud le; yxrk 

gS % 

¼v½ uohdj.kh; lalk/ku  

¼c½ vkjf{kr lalk/ku 

¼l½ lkewfgd lalk/ku 

¼n½ vuohdj.kh; lalk/ku 

Resources that take long geological time for their formation 

are called : 

(a) Renewable resources 

(b) Reserve resources 

(c) Community resources 

(d) Non-renewable resources 

20- iF̀oh ds ok;qe.My esa dkcZu MkbvkWDlkbM xSl dk izfr’kr fdruk gS\ 

¼v½ 25% 

¼c½ 50% 

¼l½ 0-03% 

¼n½ 7% 

What is the percentage of CO2 in earth’s atmosphere ? 

(a) 25% 

(b) 50% 

(c) 0.03% 

(d) 7% 
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 [k.M&c izR;sd 2 

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj 2 ;k 3 okD; esa nhft,A 

 Attempt all questions in 2 or sentences. 

1- ok;q iznw”k.k ls vki D;k le>rs gSa \ 

What do you mean by Air Pollution ? 

2- vkstksu&{kj.k D;k gS \ 

What is Ozone Depletion ? 

3- HkkSfrd iw¡th dks ifjHkkf”kr dhft,A 

Define Physical Capital. 

4- gfjr vFkZO;oLFkk D;k gS \ 

What is Green Economy ? 

5- GDI D;k gS \ 

What is GDI ? 

6- uohdj.kh; lalk/kuksa dks ifjHkkf”kr dhft,A 

Define Renewable Resources. 

7- /kkj.kh; fodkl D;k gS \ 

What is Sustainable Development ? 
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8- Hkw&{kj.k D;k gS \ 

What is Soil-Erosion ? 

 [k.M&l izR;sd 3 

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj izR;sd 75 ‘kCnksa esa nhft,A 

 Attempt all questions in 75 words each. 

1- ou lalk/ku dh O;k[;k dhft,A 

Explain forest resources. 

2- GEM D;k gS \ 

What is GEM ? 

3- Hkwfe iznw”k.k ds lzksr D;k gSa \ 

What are the sources of Land Pollution ? 

4- dqiks”k.k dh O;k[;k dhft,A 

Explain Malnutrition. 

5- RTE Act D;k gS \ le>kb,A 

What is RTE Act ? Explain. 

6- lkekftd okfudh dks le>kb,A 

Explain social forestry. 
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7- i;kZoj.k dqtusV~l oØ (EKC) ij Vhi fyf[k,A 

Write a note on Environmental Kuznets Curve (EKC). 

8- LokLF; ns[kHkky ds fu/kkZjdksa dks le>kb,A 

Explain the determinants of health care. 

 [k.M&n izR;sd 5 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj izR;sd 150 ‘kCnksa esa nhft,A 

 Attempt all questions in 150 words each. 

1- ty iznw”k.k D;k gS \ ty iznw”k.k ds dkj.k vkSj izHkkoksa dh O;k[;k 

dhft,A 

What is water pollution ? Explain the cause and effects of 

water pollution. 

vFkok 

(Or) 

Xykscy okfe±x ds dkj.k vkSj izHkko dk o.kZu dhft,A 

Describe the cause and effects of Global Warming. 

2- lalk/kuksa dh ifjHkk”kk nhft,A iqu#Riknuh; ,oa xSj&iqu#Riknuh; 

lalk/kuksa esa vUrj dhft,A 

Define Resources. Distinguish between renewable and non-

renewal resources. 
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vFkok 

(Or) 

ÅtkZ ds oSdfYid L=ksrksa dk o.kZu dhft,A 

Describe the alternative source of energy. 

3- RTE Act ij ,d ys[k fyf[k,A 

Write an essay on RTE Act. 

vFkok 

(Or) 

ekuo iw¡th D;k gS \ ekuo iw¡th vkSj HkkSfrd ia¡th ds chp dk vUrj 

fyf[k,A 

What is ‘Human Capital’ ? Write the difference between 

human capital and physical capital. 

4- /kkj.kh; fodkl dks ifjHkkf”kr dhft, vkSj blds fofHkUu igyqvksa dh 

foLrkj ls O;k[;k dhft,A 

Define sustainable development and discuss its different 

aspects in detail. 

vFkok 

(Or) 

LokLF; ns[kHkky ij ,d fucU/k fyf[k,A 

Write an essay on Health Care. 
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